AP Calculus Test #2
Practice Multiple Choice

(All of these should be completed WITHOUT a calculator unless otherwise indicated.)
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2. Let f'be the function given by f(x) = 2cosx+1. What is the approximate value for f{1.5) found by

using the line tangent to the graph of f(x) at x = Z?
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3. Suppose the equation x + 3 = —2(y — 1) is the equation of the normal line drawn to the graph of
a function, g(x), at x = a. Which of the following statements can be made about g(x) at x = a?

@The graph of g(x) is increasing at x = a.
B. The graph of g(x) is decreasing at x = a.

=5 (e«3)= -\
SeM="T

C. The graph of g(x) has a horizontal tangent at x =a. SoT =2

D. No conclusion can be made about the graph of g(x) at x = a.
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4. Let fbe the function defined by 7(x) = x +2cosx and let g be defined by the function g(x) = x* + x°.

The line tangent to the graph of fat x = 37” is parallel to the line tangent to the graph of g at x = a.
What is the value of a? (CALCULATOR)

A -1 B. 0.984 D. 0.687

Q= 1% desc | SEE) =q(0) =3
Q( = I“QSTV\X /"QSVGISAB: 4013*321' “(1,-“’(0?/«5%

s = xtad |- 200) =475
?5( - qx’q%g | 2 = Ho? <5
2 2 o 4%t

5. The graph of thmn, f(x), 1s pictured to N
right. Which of the following statements is/are not true?

‘r
I. The graph of fhas relative extrema at x =t2, x=0,and x =2. Talg

)

IL. The graph of fis decreasing on (—o0,—2)U(0,%0). T

III. The slope of the normal line drawn to the graph of fat
x =—1 has a negative value.
A. IIT only B. T'and II only Bl
/ BO’C’ . Graph of f'(x)
10N
C. I'and III only D. II only __ﬂ

6. lim cos(x + h) —cosx

/
h—0 h @'@57() ——5n ?<

A. sinx B. cosx C.0

7. If f(x) = 2x° —cosx, then lim f(x+h2_f(x) -5 ™

h—0

x2 + sin x B. 6x +sinx C. 6x*—sinx D. does not exist
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8. Ifg(x) = T’ what is the equation of the normal line drawn to g(x) Whe@
X
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9. Which of the following functions are such that their graph is decreasing when x = ©t?

3 -1 : 2 3
I f(x)=—==3x"" IL. A(x)= \/;+smx I11. g(x):_2+cosx 22,02 «CoSx
* X
= -3 ~ Lxcho« = 2= <ces —UN - Siax = = -Sax
-2 L S ==K COSK = oix < ! - -dx x 3
St 22X = T ™ o § ®=" x
;3_ 4 (,95(:[]') . =
$'n)= BT vim = 2T ptm=
Sy = V4 = 2% = v
= (Less Paal) = \ t _
( ) a (,tr) = 'yl(s
N (r)= Yl(f‘)
A. Tand Il only B. I only @I, I1, and IIT D. II and III only
x=2x2+x°
10. Ifg(x)=x—4,then g'(x):

} (¥)= X 2= Dx x|
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D.
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